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Full Sea Speed 104 rpm

Transfer Diameter : 0.411 OFY Transfer Diameter : 0.54 Ot

TCD or !
Tactical diameter %

<>

16.9 knots
206

17.0knots

Transfer 207"

11.5knots
4107

12.2 knots
4117
9.7 knots
619

11.34 knots
624"

Advance : 0.388 Ot

Port 25.5 knots Starboard 25.5 knots

4» Advance : 0.373 0t . i

47

Maximum
transfer

Advance

Half Ahead 53 rpm

Transfer Diameter : 0.424 OFY > < Transfer Diameter : 0.428 O}

>

Drift angle A ?
____________ Ve .. @ L
; ¢ :
+J 2 2
L]
v Port 12.8 knots w Starboard 12.8 knots v

v 23 AH0|LH A
LOA : 292m, DWT : 61,787MT, B : 21.7m, Draft : 13.5m, Speed : 24.3kts
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